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Special credit will be given for accuracy and relevance
in the answer. Marks will be deducted for incorrect
spelling, untidy work and illegible handwriting.
The weightage for each question has been
indicated in the margin.
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EBT-IX (UT-242/16)

( English Version )

Group - A

Answer any two questions : 10 x 2 =20

What is epistasis ? Explain dominant and
recessive epistasis with the help of suitable

examples. 2+8

Why is lac operon regarded as an inducible
operon ? Describe briefly the structure and

negative control of lac operon. 2+8

What is polyploidy ? Classify different types of
euploids with definition. Briefly discuss with
suitable examples the role of polyploidy in

evolution of new plant species. 1+6+3

What is genetic code ? Mention the properties of
genetic code ? Briefly describe the homopolymer
and copolymer techniques used for the

decipherence of gentic code. 1+3+6
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11.

Group - B
Answer any three questions : 6x3=18
What are meant by multiple alleles ? Briefly
discuss the role of multiple alleles in ABO system
of blood group classification in humans. 1+5
What is crossing over ? Describe briefly the
experiment used to prove the cytological basis of
crossing over. 1+5
What are meant by incomplete dominance and

co-dominance ? Explain with suitable examples.
3+3
Explain briefly the terms — Cistron, Recon and
Muton. 2+2+2
What is ‘Wobble hypothesis’ and who first
proposed it ? Discuss Wobble hypothesis in brief.
1+1+4
Briefly discuss Darwin’s theory of evolution along
with its drawbacks. What do you mean by
Neo-Darwinism ? S+1
Group - C
Answer any four questions : 3x4=12
Distinguish between paracentric and pericentric

inversion. 3
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What are meant by the terms ‘Interference’ and

‘Coincidence’ ? Explain. 1L +1%

Briefly describe the ‘one gene one polypeptide’

concept. 3

Distinguish  between crossing over and

translocation. 3

Distinguish  between nuclear DNA and
cytoplasmic DNA. 3

What is meant by the term ‘linkage group’ ? State

the number of linkage groups in humans. 2 +1

Distinguish between Homologous and Analogous

organs. 3
What are living fossils ? Give two examples.

1+2
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